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Paricd:

L Tell whether the function shows growth Jr decay. Then find the percent of increase or decrease.
Find some poants, and then graph. Finally, give the domain and range.
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II. Write an exponential functian v =aft’ fe madel the infermation. Then use your model to moke the

reguested prediction or eshimate the fime,

3, Suppose wou buy o comgpater that cests $1150 and
axpact o itg valug 18 by 42 % @k wear
ihar will be the computer's redale volue in 3 years?
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4. [f astock priced at $27 increcees at a rate of 6.04%
each vear, when will it be worth aoproimeteiy $I007
Raund to the seerest terth of o year,
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IIL  Given (). find the equation of its inverse, [ ' (x).
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V. Pewrite gach equation in logarithmic form.

|06, Answes = Exponest
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VII.  Eveluote each logarithm WETHOUT the coloulater,
|8 12 logt, 13 log, 27
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